Eureka Math

First Grade
Module 2
Lesson 4

At the request of elementary teachers, a team of Bethel & Sumner educators
met as a committee to create Eureka slideshow presentations. These
presentations are not meant as a script, nor are they required to be used.

Please customize as needed. Thank you to the many educators who
contributed to this project!

Directions for customizing presentations are available on the next slide.

@ @ This work by Bethel School District {www.bethelsd.org) is licensed under the Creative Commons Attribution Non-Commercial Share-Alike 4.0 International
@ License. To view a copy of this license, visit hitp:fereativecommons.orglicenses/by/4.0/. Bethel School District Based this work on Eureka Math by Commaon

Core (httpfgreatminds.net/maps/math/copyright) Eureka Math is licensed under a Creative Commons Attribution Non-Commercial-ShareAlike 4.0 License.




Customize this Slideshow
Reflecting your Teaching Style and Learning Needs of Your Students

> When the Google Slides presentation is opened, it will look like Screen A.

> Click on the “pop-out” button in the upper right hand corner to change the view.
> The view now looks like Screen B.

> Within Google Slides (hot Chrome), choose FILE.

> Choose MAKE A COPY and rename your presentation.

> (Google Slides will open your renamed presentation.

> |t is now editable & housed in MY DRIVE.
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Lesson 4

Objective: Make ten when one addend is S.

Suggested Lesson Structure

B Fluency Practice (12 minutes) -
™ Application Problem (5 minutes)
Concept Development (33 minutes)

B Student Debrief (10 minutes)
Total Time (60 minutes)




Materials Needed

e (T) 10 cubes of one color and 10 cubes of a different
color

e A ten-frame border (not provided by Eureka)

e (S) 10 cubes of one color and 10 cubes of a different
color



| can make ten when one addend iIs 9.




~ =~ Happy Counting the
Say Ten Way

| will say a number between 1 and 9.
You say the 9 with two addends, with
one part as 1!



L~ Sprint: Add Three
Numbers

ASTORY OF LINITS Lesson 4 Sprint ;:._-

Let’s do our A
Name Date i
Sprint!

p - L] 9+1+3=0 s 6+4+5=0

2| 9+1+5=0 7| 6+4+6=0

. 3| 1+9+5=0 8| 4+6+6=0

Slde A s | 1+9+1=0 .| 4+6+5=0

5 | F+F+d=[] 20| 4+5+6=0

6. | B+H5+H =0 2.l 5+3+5=0

7| B+H+H5=0 22| 6+5+5=0

8| B+2+1=0 23| 1+4+9=01

9| Bx2+3=[ 24| 9+1+0=14

0| 8+2+7=0 2s.| 8+2+0=11

n| 2+8+7=0 26.| 0+3+4=13

.| 7+3+3=0 27.| 2+0+6=16

B3| 7T+3+6=0 28.| 1+1+0=11

“w | 7+3+7=0 29.1 19=5+0+9

s, 3I+F+7T =0 30| 1B8=2+0+6




L~ Sprint: Add Three
Numbers

& STORY OF UNITS Lesson 4 Sprint EF R

Let’'s do our :

Mame Date

"Momre a ten to add.

.
Sprint! T D T

2| Bb+Hh+6=0 7| 6+4+3=0

.| 5+5+5=0 | 4+6+3=0

S-d B 4| 9+1+1=0 Bl 4+6+6=0
I e 5] 9+1+2=00 0| 4+7+6=0
6&.| 9+1+5=0 2.l 5+4+5=0

7.] 1+9+5=0 22.| B+5+5=0

B.| 1+9+6=0 230 1+7+9=0

5. | B+2+4=0 2. 9+1+0=11

0. B+2+7=0 25! 8+2+0=12

| 2+8+7=0 26| O+3+4=14

2| T+3«7=0 27.| 3+0+7 =20

B3| 7+3+8=0 28| 7T+8+0=17

“| 7T+3+9=0 29.| 16=3+0+6

5. 3+7+9=01 30| 19=2+0+7T




Application Problem

Michael plants 9 flowers in the morning. He then
plants 4 flowers in the afternoon. How many flowers
did he plant by the end of the day? Make a drawing,
a number bond, and a statement.




Concept A o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?




Concept A o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

What is the expression to solve this story problem?



Concept A o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

The expression is 9 + 3.



Concept o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

How can you check that | have the correct number of
cubes representing Maria’s cubes?



Concept A o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

| heard someone say we can count, one at a time!



Concept A o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

Okay, but that’s not very efficient. Is there a way to
organize Maria’s cubes so we can tell there are 9
cubes faster?



Concept A o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

| heard one of you say we should put them in a 5-
group!



Concept B
Q Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

Great idea. When we arrange or draw things in a 5-
group, we are all going to follow these steps. Just
like reading, we’ll start with the top row and from the
left. Let’s place our 5 cubes in a row.



Concept A o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

We start in the next line with 6 and try to match it up
to the top as closely as we can. Let’s place 4 in the

so we have 9.



Concept A o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

Now can you see we have 9 cubes right away?



Concept A o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

What do we do to solve 9+37



Concept A o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

We make 10!



Concept o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

Here’s another way to show ten.



Concept A o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

We made ten!



Concept B
Q Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

I’m going to put a frame around it. We are going to
call this a ten-frame. It looks just like our 5-group
drawings, but now that we are making ten, we can
call it a ten-frame. Whenever we make ten, we make
or draw a frame around it. That way, we can see ten
right away.



Concept A o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

Look at the new piles. What new expression do you
see?



Concept A o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

10+2!



Concept o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

So, 9+3 is the same as...?



Concept A o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

10+2!



Concept A o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

9+3=10+2

What is 10+27?



Concept A o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

9+3=10+2

10+2 Is 127



Concept A o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

9+3=10+2

What is 9+37



Concept A o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

9+3=10+2

What is 9+37



Concept A o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

How many cubes do Maria and Tony have?



Concept A o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

Where are the 3 red cubes? Point to them.



Concept A o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

You are pointing to two different places. Why?



Concept o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

We broke 3 apart into 1 and 2.



Concept A o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

Let’s use a number bond to show how we broke
apart 3.



Concept A o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

Just like we framed the ten in our picture, we’ll frame
the numbers that make ten.



Concept A o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

Just like we framed the ten in our picture, we’ll frame
the numbers that make ten.



Concept A o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

O and 1 make...?



Concept A o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

9 and 1 makes 10!



Concept A o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

10 and 2 make...?



Concept o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

So, 9 plus 3 equals...?



Concept A o
D Development .

Maria has 9 green cubes. Tony has 3 red cubes. How
many cubes do Maria and Tony have?

9 plus 3 equals 12!



Concept A o
D Development .

Let’s practice more! Let’s solve 9 + 2 together. We will
move our cubes to make 10 and | will make a number
bond to show our work!




Concept
D Development

94+2=




Concept
D Development

94+2=

Let’s check our work!

4 9+2=11 10+1=11 %\'I
@ uuuuu @

GGGGG
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Concept A o
D Development .

Let’s practice a few more! We will move our cubes to
make 10 and make a number bond to show our work!




Concept
D Development

4+9=




Concept A o
D Development .

Now let’s practice using math drawings. You will draw
9 with open circles. Draw the other addend with filled-
in circles. Then you will make a number bond to show

your work!




Concept
D Development

9+6=




Concept
D Development

3+9=




Concept
D Development

/+9=




Problem Set

12345 8 Problem Set

£ STORY 0F UNTS Lesson & Problem Set -]

Mame Date

Change the picture to maoke ten. Write the easier number sentence and solve.

1. Tom has 9 red pencils and 5 yellow. How many pencils does Tom have in all?

00000
0000 "

Q+HF=

3O
10 pencils + pencils = pencils
1{1 and solve.
2 9+3 3 4+9
0000 a0ao
ID * = 1ﬂ + —j




Problem Set

12345 PFOblem Set

F2:11 W=-1=11
Solve. Make math drawings using the ten-frame to show dED T | -
-E-K

how you made 10 to solve.

4, 9+5=_ + =
L f:+g:_ - -
& ﬂ+9:_ + -

Solve. Use a number bond to show how you made ten.

7. b+g9= 8. =L




=% Debrief

How did solving Problem 4 help you solve
Problem 57?



@ Debrief 3

What new (or significant) math vocabulary did
we use today to make our pictures precise?



@ Debrief 3

What were some strategies we learned today
to solve addition problems efficiently?



=% Debrief

What were some strategies we learned today
to solve Look at your Problem Set. What
pattern did you notice when adding 9 to a
number? Why is it always a ten and the
number that is 1 less than the other
addend?addition problems efficiently?



=% Debrief

Look at the Application Problem. Share your
drawing with a partner. How could you use
the ten- frame to show your work? How does
the ten-frame help you see your total

amount?



® Exit Ticket

AR Lesson 4 Exit Ticket £071)
Mame Date
Y Bedzm ™
Solve. g2zl

Make math drawings using the ten-frame to show how C{'b ernce bk d R
SRuEs Ry |

you made 10 to solve,

. W-1:11 o

1. 6+3= 2. =4+9

10 +

I
+
I
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